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IenbMeHH MSICHBIE CO CIIMBOYHBIM MAc/ioM 150 238 40
Xneb nueHUYHbIA 45 105 4.4
3akycka (MKpa OaknaxaHHas) 60 79 6,4
Yaii ¢ 1umMoHOM 200 40 3
OpyKTH KOHCEPBUPOBAHHbIE 50 46 6,2
JlonosiHUTE/ILHOE NTHTAHHE
[Ipsinuk /neyeHbe 25 104 6
MoJIOKO/KHCIOMOIOYHBIH HAMUTOK 200 107 27
Hroro 730 719 95
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3ABTPAK
[lebMeHH MSCHBIE CO CTMBOYHBLIM MacjioM 155 PN 52
Xne® niueHUYHbIH 45 105 4,6
3akycka (MKkpa OaknakaHHas) 60 79 1.2
Yaii ¢ 1TMMOHOM 200 40 6,2
JonoanurebHOe NMHTAHHE

[Ipsnuk /nevenne 35 146 11
@pyKThl KOHCEPBUPOBAHHbIE 60 46 14

Hroro 555 690 95




